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* Statement :

* All liquids are solids.

Some solids are gases.

All gases are clouds.

Conclusions :

Some clouds are solids.

Some solids are clouds



* Select the letter combination that when sequentially placed in the blanks of the
given letter series will complete the series.

® 3 T FASH ohl T h, IS8 &t 18 3789T vt o Tk T | shiteh ®9 9 W W
Ut 9o g1 STar)

a bcde abbcd aabb ee

A.Abeacecd
B. Acecdbea
C. Acaebecd
D. Abecdeae




* Four letter-clusters are given, out of which three are alike in some way and one
1s different. Select a different character set.

* IR AG-GHE U e &, fSiH € i foreft e § T & 31 Tk for=T 21 i a7t

T T =

A. TXCJ
B. DHSZ
C. NRIQ
D. GKPW




® If the mirror 1s placed to the right of the given figure, then select the correct
image formed in the mirror of the given figure.

* Jfq FUUT <kl & 715 TR o 3T TR TET ST, I a1 75 3TThId T U | [HiHd T2t

el el o o N ©
IGIEERCRIEREEAISIY

(B)




®* Find the next term

* ST UG T ehITSTT
°3,5,15,41,2,173

A.106
B.91
C.112
D.78




® Four numbers are given, out of which three are alike in some way and one 1s
different. odd number selection

* IR EEATE 7S 2, TS0 O i fore) Tor g1 & 31T Ueh Ty ?) fort gam <

A.5423
B. 6341
C.6138
D. 1652




* A sales boy of a washing machine store gets 24% more than the cost price from
his customers. If a customer paid £6.200 for the washing machine, then find the
cost price of the washing machine.

* FTTIRT R TSR T §eH S 3T TTeehi § 6 T § 24% 3T ITH hLaT 2| I
Ueh UTeeh = ST A1 o T8 6200 T YA TohT, 1 ST A o1 563 7o
1l ) A.6200

B. 5000
C. 5500
D. 7200




* Select the option that 1s related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.

* 3Y forehed =T =T L, ST dTEL A&T-HHE § ek ST SehR Heiferd €, fore Tehr gaw
HER-HHE Uec! STE-GHE H Helford 2l

°* BYDW: UFSH:: CXFU: ?

A.SHQJ
B. RIPK
C.TGQJ
D.RIOL




® In a certain code language, FORWARD 1s written as CSZXQPE. in the same
code. How will NUMERAL be written?

o Ueh (Hf3d shle VT H, FORWARD %! CSZXQPE for@r Sirat 21 S i 1
NUMERAL ! 8 forar Siraem 2

A.KBQFLVM
B. MUNELAR
C.MZSDNTO
D.KZQDLTL




* Select the option that is related to the third number in the same way as the
second number Related to the first number.

* 3G fIhed T I hL M) Wﬁwﬁwwﬁﬁ%ﬁ%ﬁﬁwﬁ“ T YAl ST

o Heiferd )
®12:150::14:7?

A.205
B. 502
C.302
D.203



* In the same way straw is related to the nest, in the same way cotton is related to.

* JY ook hT G T T R, A A FI T ?

A. Thread/am
B. wool/&

C. Tailoring/ LSGIE

D. textile industry/sh9<lI SEI



* Four words are given, out of which three are alike in some way and one 1s
different. Select a different word.

* IR 37ec feu Mu &, o & i foret Tohi AT & 37 Uk 3= B F371 Tee oAt <=M
]

A. Integrity/3TESdT
B, Happiness/‘@li}?ﬁ
C. Veracity/dcd

D. Honesty/SHMERT




® Statement :

* All liquids are solids./ &4t 59 3 2l

* Some solids are gases./$® 3 Y g
* All gases are clouds./a¥l G STee 2

® Conclusions :

* Some clouds are solids./%® dT&d] 3 g

® Some solids are clouds/gh@ 3 e %



* Sigda said that she met the father-in-law of the mother of the son of her
mother's only brother. who did she meet?

o T2 3 a7 foh g ST 6l o geholld TS oh SI< shl AT o T8 ¥ fircl| o fohed

A.Father

B. Uncle

C. Grandfather
D. Brother




* Select the correct option that shows the order in which they appear in the given
word order in English are in the dictionary.

o T forshed T == L ST 30T | feU U v1ee shn 0 S shr 0 9 fe@s 20 € o8

STeehITT | 2
1. Multifocal

2. Movement

A.2,4,1,3,5
3. Multinomial B.1,5,2,3,4
4. Moviemaker. C.4,2,1,3,5

5. Mutual fund D.4,2,3,1,5



* Select the line that best represents the relationship between the minor points
Woman, Professor, Widows.

* 3 1@ Rl = L ST A foigatl AfeT, Tea, foreremet o off g 1 aed

=31 Ufafaferea st 2




* Count the Rectangle

* 3TTIT hl Tt ot

m-A L 100
B. 120

C.110
D. 125



* Select the set in which the numbers are related in the same way as are the

numbers of the following set.

* 3G U< 1 I ! foTaH GEATd I6T 98 W Geid 8 S fAefetfad de &t aeamd @

® (9,12, 18)

A.(5, 12, 24)
B.(13, 19, 31)
C. (21,29, 44)
D.(7, 13, 27)



